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76- My brother said he didn’t want to get the new job because he ......ceu..... @ Well-paid one before.
2) had offered 3) has been offered 4) had been offered

1) has offered
he will get his driving license.
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4 77. He is taking driving lessons ...............
8 1) when 2) so that 3) because of 4) whether

[} 78- Several probes were sent into SPace .......ceeeeeees bring back samples of rock for research purposes.
0 1) so that 2) in order to 3) so as not to 4) for

% 79- Some of the studies show positive results ........ ....... Others do not.

'i! 1) since 2) so that 3) whereas 4) in order not to

2 80- It was a terrible accident, and it took him one hour to return to hiS ccoovieinnnees . mental state.

'é' 1) useless 2) similar 3) brief 4) former
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: 81 He has no Idea how to rup a hotel In a forelgn country. “Run” means: ... 9 '
l! 1) launch 2) manage 3) support 4) suggest
! 82- Robotic space explorers are sent into space to study the different ..o of the planets. T
' 1) units 2) unions 3) samples 4) features T
{ 83- In any country, basic human ........... ... Including freedom of speech, should be guaranteed. E— :
| 1) means 2) issues 3) rights 4) effects &
84- Nowadays, some groups of people are working under ......ccceean pressure. "g: {
f 1) extreme 2) probable 3) artificial 4) irrelevant )
85- The fish Is ...ooviivneen and canned in the factory. § |
1 1) probed 2) explored 3) processed 4) magnified E
86- Unluckily, the earthquake damages were .........c..... the committee’s control. <&
: 1) beyond 2) without 3) within 4) between g’ ,
] 87- The English language is .....ccccvens changing because the old English words are being replaced by the ‘E_‘ :
1 new ones. L
i 1) basically 2) economically 3) constantly 4) domestically % ‘
‘7 mm Cloze Test 4%" i
4 The first traffic signal was invented by a railway signaling engineer. It was installed ...(88)... the v

i’ Houses of Parliament in 1868. It was like any railway signal of that time, and was operated by gas.
’ ...(89)..., it exploded and killed a policeman, and the accident ...(90)... further development until cars
»] became common. Recent traffic lights are an American invention. Red-green ..(91)... were installed in
g

g Cleveland in 1914 . The early lights of this type to ...(92)... in Britain were in London, on the junction

; between St. James’s Street and Piccadilly, in 1925. Automatic signals were installed a year later.

j:% 88- 1) outside 2) through 3) across 4) overpass
| ;u 89- 1) Since 2) Therefore 3) Also 4) However

H’ 90- 1) denied 2) disconnected 3) avoided 4) discouraged

’4 91- 1) methods 2) ways 3) systems 4) means

j 92- 1) show 2) appear 3) happen 4) become

& an Reading Comprehension 1
J- I Tokyo is Japan’s capital and largest city, founded in 1457. Tokyo has grown into a metropolitan
{:"{ region that also includes the cities of Yokohama and Kawasaki. It has nearly 30 million residents,
:;1 which makes it one of the largest cities in the world. The streets of Tokyo are extremely crowded and

the buildings are all very modern. Walking in Tokyo at night is an amusing experience. Sky scrapers
shine brightly with neon signs and video screens. But how could an ancient city look so modern?
{ During world war Il Japanese military forces attacked a U.S. naval base in Hawaii called Pearl
, J Harbor. Americans sought revenge on Japan. American military forces began bombing Japan’s biggest
| cities. Tokyo was almost entirely destroyed by the bombs. Thousands of people were killed and over a
third of Tokyo’s buildings were destroyed by fire. Most of Tokyo's were made of paper and wood so
the fire spread quickly.
Tokyo today is a welcoming metropolis. Tourists roam about the streets, taking in modern
Japanese culture. Hundreds of shrines and temples adorn the city. Shinto and Buddhism are the major

religions of Japan. Tourists are also fascinated by Japanese cuisine. There are thousands of restaurants
sushi bars or even McDonalds. If you ever have the

—
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in Tokyo. You can choose from noodle shops,
chance to visit Japan, make sure you stop in To

Tokyo is the New York city of the East. . s
okyo is the New York city JSS"‘S)BJ [v"vﬂdbu'
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kyo for at least a few days. | think you'll agree that
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EXCEPT:

93- All of the following are true
1) Tokyo is very modern.
2) Tokyo has a large population.
3) Tokyo was founded in the 15" century.
4) During world war Il, few parts of Tokyo were destroyed.

94- A busy street in Tokyo could be best compared with ...............
2) a farm road in Kawasaki

1) Main street, USA
3) a crowded place in New York city 4) a neighborhood street in the east of America
95- According to the passage, Tokyo has ............... s
1) a variety of restaurants 2) entirely destroyed buildings
4) several welcoming metropolises

3) major religions of the world
96- Which statement does not describe modern Tokyo?

1) It is one of the largest cities in the world.

2) Tokyo’s buildings are made of paper and wood.

3) Skyscrapers shine brightly with neon signs and video screens.

4) You can choose from noodle shops, sushi bars or even McDonalds.

== Reading Comprehension 2

NASA has an exciting new vision of future spaceflight- the return of humans to the moon by 2020
in preparation for visits to Mars and possibly beyond. Moon missions are essential for the exploration
of more distant worlds. You may soon have a less expensive way to get into space. Tourists are now
paying a lot of money to travel intc space with astronauts! The first space tourist was Dennis Tito, an
American businessman. In 2001, he paid about 20 million dollars to ride on a Russian rocket to the
International Space Station. The space station circles 220 miles above Earth. Tito stayed on the station
for a week, hanging out with astronauts and eating space food. The latest space tourist was Anousheh
Ansari, an Iranian-born woman from the United States who went to the space station in
mid-September 2006.

How safe is space travel? Apart from the risk of crashing, space tourists have some special things to
worry about. Earth’s atmosphere protects us from dangerous radiation from the sun. Space travelers
are exposed to more of the sun’s rays. But for tourists spending only a few days or weeks in space, the
radiation probably isn’t harmful.

A bigger problem might be space sickness. Without Earth’s gravity to hold them down, visitors to
the space station float around inside the craft. It may look like fun on TV, but it can make first-time
space travelers confused and sick. Luckily, the sickness usually ends quickly. Then space tourists can

enjoy their trip and the amazing views of Earth.

97- According to the passage, travelling to space ............... .
2) is available to everyone

1) is not expensive
3) is possible only for distant worlds 4) is possible for rich people

98- While in outer space, it is more likely that tourists will ...............
2) not need space suits

1) get a serious sunburn
3) make side trips to Mars 4) experience motion sickness
99- it is probably so expensive to travel to space because ............... "
1) space food is very expensive 2) there are high taxes on space travel
4) astronauts want to make a lot of money

3) space equipment and fuel is expensive
100- According to the passage, all of the following are true EXCEPT:
1) Space sickness might be a big problem.
2) Space tourists have only one special thing to worry about.
3) The first space tourist was Dennis Tito, an American businessman.
4) Moon missions are necessary for the exploration of more distant worlds.

29855 g5 ple JU':J

FragErgey: .\:Jb'lx.?'l.zo,fﬂ NES

N

-




